Candy Dispenser Analysis
1. Did your Candy Dispenser dispense 4 – 8 pieces of candy?


Find the mean, median, and mode for a candy dispenser that put out the following numbers of candies:


8, 3, 5, 3, 7, 5, 5, 3, 6, 3, 7
2. Mean: 

3. Median:

4. Mode:

Find the mean, median, and mode for a candy dispenser that put number of candies:


8, 5, 8, 7, 4, 6, 8, 6, 8, 6

5. Mean: 

6. Median:

7. Mode:

8. If your candy dispenser put out different amounts of candy each time, like the example above, would customers be happy using the machine if they had to pay for the candy? Why or Why Not?


You have now made a new candy machine that dispenses one large bag of candy at a time.  You are now going mass produce your new dispenser.  You must convince a candy manufacturer that the price you will be charging for the dispenser is fair and it will not take long to pay for the machine .The break even point is the number of bags of candy that must be sold to pay for the candy dispenser.  This can be expressed by using the following algebraic formula: 
X = Y ÷ Z ((Total number of candies that must be sold (X) = Dispenser Price (Y) ÷ Profit per Candy (Z)).
9. If the candy dispenser cost (Y) is $94, how many candies must be sold in order to break even (X) if the profit per candy (Z) was $1?

10. If your break even rate (X) is 330 bags of candy and the candy manufacturer’s profit per bag of candy (Z) is $3, what price are you charging for the dispenser (Y)? 
1. Did your Candy Dispenser dispense 4 – 8 pieces of candy?



Find the mean, median, and mode for a candy dispenser that put out the following numbers of candies:


8, 3, 5, 3, 7, 5, 5, 3, 6, 3, 7

2. Mean:  5
3. Median:  5
4. Mode:  3
Find the mean, median, and mode for a candy dispenser that put number of candies:


8, 5, 8, 7, 4, 6, 8, 6, 8, 6

5. Mean:   6.6

6. Median:  6.5
7. Mode:  8
8. If your candy dispenser put out different amounts of candy each time, like the example above, would customers be happy using the machine if they had to pay for the candy? Why or Why Not?

No, because you are getting different amounts of candy for the same price.

You have now made a new candy machine that dispenses one large bag of candy at a time.  You are now going mass produce your new dispenser.  You must convince a candy manufacturer that the price you will be charging for the dispenser is fair and it will not take long to pay for the machine .The break even point is the number of bags of candy that must be sold to pay for the candy dispenser.  This can be expressed by using the following algebraic formula: 

X = Y ÷ Z ((Total number of candies that must be sold (X) = Dispenser Price (Y) ÷ Profit per Candy (Z)).
9. If the candy dispenser cost (Y) is $94, how many candies must be sold in order to break even (X) if the profit per candy (Z) was $1?

X = 94

10. If your break even rate (X) is 330 bags of candy and the candy manufacturer’s profit per bag of candy (Z) is $3, what price are you charging for the dispenser (Y)? 

Y = 990
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